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1. BEFEIA
O EXRBEERIIA [ 119,000 1 [[ 117,276 ] 1,724 1 [/het
1 EKRBEFBUXA 119,000 117,276 1,724 | BEARBIEMNMCDREE
@ SERA [ 505,000 ] |[ 507,195 ] A2195 ] [/hEE
1 EPEEREINA 500,000 494,195 5805 |(EBI&&Y
2 FRMAEURA 5,000 13,000 A8,000 |FiRMAE(@1000)
® JHEIRA [ 1,513000] |[ 146,000 ] 1,367,000 ] |/MEt
1 BOFLELAREISVOREEFERA 1,471,000 0 1,471,000
2 ZDMDEBFEILA 42,000 146,000 A104,000 |[HRARDVIVITRKESME-MER
@ wWEhEFEIMA [ 28908709 ] |[ 25,396,697 ] 3,512,012 ] [/hEt
1 EZATAHBEUA 28,869,909 25,357,897 3512012 kY
WOGRZ N o 24,214,929 22,526,398 1,688531 |BEEE- AGE-BEEEX-EHBYD
HETA I IEERAR—YXKESnHEE 2,855,980 2,573,500 282,480 |5 <LEER{E - HETH Y 7R — )L - T ETA 3t gk = B Bk
QRAMV R REBXZFENE 1,356,000 257,999 1,098,001 |A) EVIHE
BRIR—IARUIZIEEEHEEE 443,000 0 443,000 |V —HRyNREFFHF
2 (A REBRAR—YBEXFEINA 38,800 38,800 0 |[BERRHZLY
® BImEIRA [ 50,000 ] |[ 0] 50,000 ] [/MEt
1 BEREEF ARERREIRA 50,000 0 50,000
® &ELIA [ 330,000 ] |[ 330,000 ] 07 [/net
1 8HEEIA 330,000 330,000 0 [#nEE33E A (@10000M)
2 FEMEEEERA 0 0 0
@ FHERA [ 1,000 ] |[ 30,000 ] A29,000 ] |/t
1 HfFEIA 1,000 30,000 A29000 |14
LA [ 1,002000] |[ 1,210,349 ] A208,349 ] |/MET
1 ZEFR2UINA 1,000 74 926 | @EEDHE
2 FHUXA 1,001,000 1,210,275 A209275 |EEEETXIES - FREH AL -HPERE%
EXREHIRAG 32,428,709 27,737,517 4,691,192
2. BEEHXZH
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® BxEXH [ 292788701 |[ 24,753,124 1 |[ 4525746 ] [/IN&t
1 AMEEXZH ( 17,332,242) |( 17,188,940 ) (( 143302 ) |BEFEE-BEOEXERALGE
ZEHMMNZ H 760,800 760,800 0 |HEFEHEES0%
WEFLXZH 9,636,621 9,825,448 A188,827 |BE95%
RREES X 3,985,668 3,666,321 319,347 |[BE95%
EINEEELN 2,949,153 2,936,371 12,782 |EF&EE50% +HE95%
2 BIEETH 680,000 102,800 577,200 [BERAR—VYKRE-BERESMHE
3 I EX 2,001,084 1,854,584 146,500 |HRASEHE MBERAKENE NL-F-IHRET0RERESEE
REEXH 200,000 0 200,000 |AEFZH
RiTEXH 967,116 217,115 750,001 [M{AHBHPRIEH
6 FRIEEZH 569,480 156,000 413480 |BREBEEDHIILE
E -6 41,000 43,795 A2795 |SEREFEHEE
S EXBEXH 2,399,020 1,243,713 1,155,307 |REBXDKREXREBAHE
9 HEREXH 778,180 1,063,828 A285648 |BIEBEXEDHEER
10 e mEXH 912,400 25,300 887,100 |A<KLFEBRI=zS MM
11 BESREXH 529,000 398,621 130379 |BREEBEXDFREEFZFOEHREAMK
12 NRIEAREX H 574,000 56,949 517,051 |BRIESEDOHRIKE
13 BEEREXH 155,000 173,895 A18895 |HEREEBEXDABEERE
14 [REHZH 66,000 11,000 55000 |ALFEERIBILER
15 F#HH X H 7,000 6,680 320 [BREBXDOIRAFHHE
16 {RIEH 32 H 368,300 206,286 162014 |BFEEEDREH
17 &4 E 10,000 0 10,000 |&EFEEZEDEREE
18 EAMZH 1,312,048 1,722,918 A410870 |BEBEXOEMEFOFEAR-PCE)—XK
19 fEREXH 260,000 160,000 100,000 [(fEREEBAE (HASK)
20 #ZH 117,000 120,700 A3700 |MEREFVMC-IV——2FRE
BHEXH [ 25248391 ([ 21233347 |[ 401,505 ] [/NEt
1 AMEEXZH ( 1,632,981) |( 1,625,439 ) [( 7542) |EHBEE-BEOSEBEREAGSE
B 760,800 760,800 0 |EHmEE %
WHWEFEXH 507,191 517,129 A9,938 |EEE5%
FRREES X 209,772 192,964 16,808 |EEE5%
EHEEEZH 155,218 154,546 672 Eﬁiﬁ$50%+ﬂ‘éﬁ§5%
%;%ﬁitﬂ 304,000 207,015 96,985 IE$ -5 ;%E% EXSesE
SRERBEIH 100,000 8,750 91,250 |REEADKEXRES
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4 BIEEMRERH 50,000 2,882 47118 |EMERSE
5 HAEMEXH 50,000 825 49175 |EFFEERR
6 (EHEE X H 20,000 0 20000 |BEMEOBEE
71EEETH 139,050 140,600 A1550 |BARH-REMEESS - BHRIXBEOEEE
8 EREXH 30,000 14,228 15772 |BERSE
9 BNEXH 30,000 0 30,000 |(SMEREIIAZRIEE
10 RIEEXZH 10,000 0 10,000 |(BitL&%H
"M ESREXH 45,000 0 45000 |EREBAE
12 REEXH 10,000 0 10,000 |EiEFRERIEEZRER
13 FHHXH 100,000 90,745 9,255 |IRIAAFHH - -BEEETIEEEHFHHE
14 W 3,808 32,850 A29,042  |URAENHRAC. B 50128 %1(30000H)
EXREHIHE 31,803,709 26,876,458 4,927,251
EXTEHINZER 625,000 861,059 236,059

I #ETHNZDE

1. IEFEULA

O® HEEERARIRA 0] |l 100,000 ] [[ A100,000 ] [/NEt
BERSEFHEIEERABEIA 0 100,000 A100,000 |EZANL—R—ILBREISI50EFieSEEMRE
BEEBRAG 0 100,000 A 100,000

2. |{ETHZH

O EXRMERSZH 5,000 ] [[ 13,000 ] |[ A8,000] |/NEt
EARESIBTAEEX N 5,000 13,000 A8000 |FFRMAE
BEESXZHE 5,000 13,000 A8,000
BREETEINZELE A5,000 87,000 92,000

I BAFEEENINZDER

1. BAFEEIIA
B REIURAGT 0 0 0

2. MEEHXH
BERE A 0 0 0
BRI £ 0 0 0
LHAIN T = &E 620,000 948,059 A328,059
ATHRR I =48 7,068,609 7,068,609 0
REAFEHIN T = %E 7,688,609 8,016,668 A 328,059
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